ABS / RC = M0 · (1 / VJ) · (Fm / Fv)
TRo / RC = M0 · (1 / VJ)
ETo / RC = M0 · (1 / VJ) · ψo
DIo / RC = (ABS / RC) – (TRo / RC)
ABS / CS = F0 
TRo / CS = Fv/Fm (ABS / CSo )
ETo / CS = Fv/Fm · ψ0 · (ABS / CSo)
DIo / CS = (ABS / CS) – (TRo/ CS)
RC / CSo = Fv/Fm · ( VJ / M0 ) · F0 
RC / CSm = Fv/Fm · ( VJ / M0 ) · Fm 
PIABS = [1/(RC/ABS)] · [Fv/Fm/(1-Fv/Fm)] · [ψ0/(1–ψ0)]
PICSo = F0 · PIABS
PICSm = Fm · PIABS
where:
VJ = (FJ – F0) / (Fm – F0)
M0 = 4·(F300 – F0) / (Fm – F0)
Fv = Fm – F0
F0, F300, FJ: chlorophyll fluorescence intensity after 10 μs, 300 μs and 2 ms of the recording. Fm – maximum fluorescence signal intensity

